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	Key Concept
	Notes

	Slopes of Parallel Lines
	




	Problem 1
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	Problem 2
	What is an equation of the line parallel to y = -3x – 5 that contains (-1, 8)?








	Slopes of Perpendicular Lines
	




	Problem 3
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	Problem 4
	What is an equation of the line perpendicular to y = x + 2 that contains (15, -4)?
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1.  A(-8, 3), B(-4, 11), C(-1, 3), D(1, 2)			2.  A(3, 5), B(2, -1), C(7, -2), D(10, 16)




3. A(3, 1), B(4, 1), C(5, 9), D(2, 6)




4.  What is an equation of the line parallel to y = -4x + 1 that contains (2, -3)?
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5.  What is an equation of the line perpendicular to y = -4x + 1 that contains (2, -3)?



[image: ]COMREHENSION
6. 
image4.png
Error Analysis Your classmate tries to find an
equation for a line parallel to y = 3x — 5 that
contains (—4, 2). What is your classmate’s error?

lope of given line =
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Line ¢; contains A(~13,6) and B(~1,2). Line ¢, contains C(3, 6) and
D(6,7). Are £ and ¢ paralle? Explain.
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Line ¢ contains A(2, 7) and B(3, —1). Line ¢, contains C(~2,6) and D(8, 7).
Are € and €, perpendicular? Explain.
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‘AB contains points A and B. CD contains points C and

D. Are AB and CD parallel, perpendicular, or neither?
Explain.




